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IV Semester B.Com. Examination, Sept./Oct. 2022
(CBCS Scheme)
COMMERCE
Paper — 4.3 : Advanced Corporate Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answers must be written completely either in English or
in Kannada only.

SECTION - A

1. Answer any 5 questions. Each question carries 2 marks : (2x5=10)
a) What is meant by premium on issue of shares ?

b) State any two legal requirements with regard to redemption of preference
shares under Companies Act.

c) How would you treat liabilities not taken over by Transferee Company under
acquisition ?

d) What are the types of amalgamation ?

e) What entry is passed when there is any increase intk
in case of internal reconstruction ? AN

f) State the methods of calculating PC. SN

g) What is Social Accounting ? ‘ ;

SECTION - B

Answer any 3 questions. Each question carries 6 Fnargiw ae

valuge'ofany asset

(3x6=18)

2. A company had 5,000, 6% redeemable preference shares of ¥ 100 each fully
paid. These shares were due for redemption on 31-3-21 at a premium of 10%.
To carry out the redemption the company issued 1250 equity shares of ¥ 100
each at par. The company had a balance of ¥ 75,000 in securities premium
account and X 4,87,500 in Profit and Loss a/c. Pass necessary journal entries.

: —

3. Archana Ltd. resorted to internal reconstruction. The scheme was as under :

a) 80,000 Equity shares of ¥ 10 each fully paid to be converted into 40,000
equity shares of X 5 each fully paid.

b) 4,000, 12% pref. shares of ¥ 100 each fully paid to be converted into 40,000
equity shares of ¥ 5 each fully paid.

c) 600, 15% debentures of ¥ 1,000 each to be discharged by the issue of 80,000
equity shares of ¥ 5 each fully paid.

d) The amount so available be appropriated to write off the following :
P and L A/c (Dr.) — ¥ 4,00,000, Goodwill — % 2,00,000, Machinery —¥ 1,50,000.
Prepare Capital Reduction A/c.

P.T.O.
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4. ‘D’ Ltd. was acquired by ‘N’ Ltd. The share capital of ‘D’ Ltd. was 4,000 shares
of 100 each. ‘N’ Ltd. issued 2 shares of X 60 each at ¥ 65 per share and also
agreed to pay ¥ 2 in cash to the shareholders of ‘D’ Ltd. in exchange for one
share in ‘D’ Lid.

D Ltd., sold in the open market 1/4" of the shares received from ‘N’ Ltd. at the
average rate of ¥ 63 per share.

a) Give the statement of purchase consideration.

b) Ascertain the profit or loss made on sale of shares.

5. The following particulars relate to Prasad Ltd., which went into veluntary liquidation.
Preferential Creditors X 40,000, Debentures holders ¥ 1,00,000
Assets realized ¥ 3,96,500, Liquidation expenses X 10,000
Unsecured creditors other than preferential creditors X 3,20,000.

You are required to prepare Liquidator's Final Statement of A/c allowing for his =" '
remuneration at 2% on assets realized. Fad

6. Explain the need for Human Resource Accounting.

SECTION-C

Answer any 3 questions. Each question carries 14 marks :

7 The Balance Sheet of Spotlight Ltd. as on 31-3-22 is as follows :

Liabilities £ Assets L4
60,000, 14% Red. Pref. shares of Machinery 25,00,000
¥ 20 each 12,00,000 Furniture 9,00,000
4,00,000 equity shares of ¥ 10 each 40,00,000 Investments 3,50,000
PandL a/c 7,00,000 Stock 15,00,000
Sundry Creditors 11,00,000 Debtors 14,00,000
Bank 3,50,000
70,00,000 70,00,000

Redeemable preference shares are redeemed at a premium of 5% on 1-4-22.
In order to facilitate the redemption, it was decided to :
a) Sell investments at a loss of ¥ 50,000
b) To finance the redemption :
i) P and L a/c to be utilized leaving the balance of ¥ 2,00,000.
i) Issue sufficient new equity shares of 10 each at a premium of X 2 per
share.

Pass necessary journal entries and show the Balance Sheet after the redemption.
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8. A Ltd., and B Ltd., agreed to amalgamate and form a new company called
C Ltd. The Balance Sheet on the date of amalgamation was as under :

Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.
Share capital 1 ,00,0200 1,40,300 Fixed assets 1,20,0¥00 1,80,300
Reserve 1,70,000 1,00,000 Stock 60,000 1,10,000
Creditors 40,000 90,000 Debtors 80,000 1,30,000
Bank Loan - 90,000 Cash 50,000 -

3,10,000 4,20,000 3,10,000 4,20,000

The purchase consideration was to be based on the net assets of the Co. but
. subject to an addition of ¥ 90,000 to compensate to A Ltd., for its super profits.

' ﬁi@ shares of Z 10 each in C Ltd., were to be issued to A Ltd,. and B Ltd., at
the premium of 3 5 per share and in proportion to the agreed net assets.

C L"td., proceeded to issue to public 12,000 shares of T 10 each at a price of
% 15 per share.

a) Calculate the number of shares issued to A Ltd., and B Ltd.
b) Pass opening entries in the books of C Ltd.
c) Prepare the amalgamated Balance Sheet.

9. The following is the Balance Sheet of Mangala Ltd. as on 31-3-22.

Liabilities 4 Assets <
1,20,000 shares of ¥ 10 Land and Buildings 9,00,000
each 12,00,000 Machinery 5,00,000
Sundry Creditors 3,00,000 Stock 1,70,000
Bank overdraft 2.,80,000 Debtors 2,00,000
P and L account 10,000
17,80,000 17,80,000

The company went into voluntary liquidation and the assets are sold to Lakshmi
Ltd. for ¥ 15,00,000, payable as to ¥ 6,00,000 in cash (which sufficed to
discharge creditors and bank overdraft and pay the winding up expenses of
¥ 20,000) and the balance X 9,00,000 by the allotment of 1,20,000 shares of
¥ 10 each of Lakshmi Ltd. ¥ 7.50 per share paid up to the share holders of
Mangala Ltd.

Prepare necessary ledger accounts in the books of Mangala Ltd.
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10. The Balance Sheet of P Co. stood as follows on 31-3-22.

e

Liabilities 4 Assets L4
19,000 Equity shares of Land and Buildings 1,00,000
¥ 100 each 19,00,000 Machinery 2,80,000
Debentures 1,00,000 Stock 3,70,000
Creditors 1,00,000 Sundry Debtors 1,80,000
Goodwill 2.00,000
PandL a/c 9,70,000
21,00,000 21,00,000

The Co.is to be reconstructed as follows :

a) Shares of X 100 are to be reduced o an equal number of fully paid shares
of T 40 each.

b) To issue 1000 new shares of X 40 each fully paid to debenture holders in
full settlement.

c) The amount available is to be utilized in writing off the goodwill and P and '
L a/c and the balance in writing down the value of machinery. ;

d) Authorized capital of Co. is 20,000 shares of ¥ 100 each .

Give the necessary journal entries. Prepare a reconstructed Balance Sheet.

-
—

——

The capital of the X Ltd., was as follows :

4,000 ordinary shares of 100 each fully paid.

3,000 ordinary shares of T 100 each X 80 per share paid up.
1,000 preference shares of T 100 each fully paid.

The various creditors amounted to X 1 ,00,000. This included secured creditors
worth ¥ 30,000. The liquidator’s remuneration was worth ¥2,500.The liquidators
made a call of ¥ 15/- share on the ordinary shares which were partly paid up.
This was paid in full. He also realized all the assets amounting to ¥ 2,91 ,000.

Prepare the liquidators account showing the return to the share holders.



a‘ P

00 0 0 001 S 63421
saizs e:sdeg

PN — D

1. 83 3INT cdRYETH 5 TInon Ko, B303RoRd TIoIw 2 SoFNYR)
ﬁmo@d@éd (2x5=10)
a) OO DCEECDH Foed 23000300 DOTTERO ?

b) FoTANY LHRCDRT LRODE ST3Ee Fetdrd B8R eL3Sn FoLoPITOE oIy TRtsae
TR FTIRPR BB, 63’71@5&33 SN
C) M, RO ;Daec') éoeu%)om R, QEINBRERY,T Gy BN, deY Berk
*’aﬁsénosba 2
d) RoodpexSod VENEd o3 ?
6) $oB08 PIIFW|RF LT RoWF B, cIRFTe X 183 SPYBY O Bedgeorn drewd
ma)eﬁocbab Bert 2580308¢0 7
f) Doed zﬁeﬁoﬁa& éocab&o@odwd TRINTI) SR
g) IR 6@2@#@ QOTTERO ?

TN — W

33 NS cdnTYETe 3 BIoR wugoR. B8odeomd TBIotwe 6 BOBNYRY
stolelaloviiad (3x6=18)

2. %0t F0modn 3w ¥ 1000 rdr ToBSAE 3D TS 5,000, 6% STI0D

A-;A wecﬂaﬁejm BR0OT. B3 Fedord) 31-3-21 Fomd 10% 2360030038, 300 "?déﬂw

4 m&ooaa’) aﬁmzﬁﬁoﬁoz’o %r'{m;’w FoTO3N 1,250 ROy Hedonegsy gen X 100 7

7 oZond. ZoR0ID Hedh & e&bo:bo 5300 X 75,000 me’a oyl adaa’a SE, 008009
X 4,87,500 w3, das ﬁmo@& g drewd c‘dmmn’@m Sea.

3. Er OEIEE 350308 RV SR ea8, BT Teecwd. 83 o3penSodn 35 5008 :

a) ¥ 10 ©80,000 == FHedonwa = > ROTPEIF N TTEAT e T 5 T 40,000 RO
Jedoneon E)dém@arbécﬁ

b) 4,000, 12%3 100 3 &t :a’oda RN Bopeareon TR e T 5340,000
RO, Fedoriwon bﬁém

clin 000 0600, 15% OB, ?'{%353 3w ¥ 5 380,000 _"ada Heton® LBTHBOWT
VRNE SREANIT,

d) &ert g3 dma’dﬁo 83 FENSYNIRD, 38 WREe0 WPRBRY e :

Y- wa 8398 (Dr.) —% 4 ,00,000, NU?J@E@ ¥ 2,00,000, choéra CTFOLANT —
S50 000

WOBIY TRS amé’odad.z{ 3030



63421 6- TR

4. '® Q0BT O " O 7, QST BBROBD. ‘B OULIES Redd LOBHER)

2% 1000 4000 wecbrf%fda moc‘:ﬁ) ‘R OLIET "o.gé Reor T 65 Fo3 30T 603
3 2 Fednd), DBORB 02 & O3S KeBITTOR 1,080 Reon WRHAT 2 aﬁr{cﬁa’a
TOTERBD.

‘@ OEETRE fan® OQ0YE® V0T TR Fedons 1/4Te LgnE) 3008 wRTITEED,
Té =eon ® Bo0R0 T 63 B30TE) BT SRB uw&ao&%éa
a) BoBRCD DO WS BOEEROD.

b) =edons BRoeLn oed emd ST DR, FOREDROWD.

5. 25 39NS QRN BT OREE T Boropass, o 3,030T 83 BIEITE TR,
sz MO X 40,000, ROTZ, o0daRD T 1,00, 000,
SRR 53 T 3,96,500, SResEE Sedped T 10,000.

e-_ecﬂaa "aebridm BRTBOTBRR e:amd%:% HON3 T 3,20, 000

éDNazrmC)aaao:b ROLITI- dﬂ@@bd A, 3one Boed 2%. VRRFTHTOD 20830
STz W33, Ncﬁ*@ﬂ,

6. B3 ﬁoau’;’n%@ @gm@cs TR QFOR. Y
en - N
81 $ONS CIRRTTR 3 FIRT GuZoR. Baodowd FBowe 14 LoBnvs) BN
BROOTIZT. (3x 14;43)
7. M G5 QRS s B3 31-3-22 Jo3 81 FNT0IT s
ummamﬁo T SN 3
60,000, 14% 3 X 20 B Ro0h o8 odxe3peRedmened  25,00,000
efd?j'e:’ob ReBoned 12,00,000 werﬁm BTN 9,00,000
4,00,000, e X 10 37wy edonsd  40,00,000 ZRESN 3,50,000
ot~ R 903 7,00,000 W 15,00,000
%) FAND 11,00,000 a3>e3ned 14,00,000
wW,08° deN), 3,50,000
70,00,000 70,00,000

T RS BREWBTT SHZ0D Reddoned) 1-4-22 B0t 5% &4ee00300:¢E) 0Td
TORS BRESRMIT, ébmeasﬁofoab RRRORRTRR R ez, B3 égiéod@ﬁmﬁab TRBED
é’acjrawaoaaab

a) 350,000 sﬂﬁr}ﬁ@ﬁ &’m@éﬁ@d& TR0 BDRR
b) QB3I TeoTIRD WINRLY

i) opg-=7 98 X 2,00,000 LIRS B3 QOBTI) yReIeRd.

i) =8 webﬁ? 2 8 60030089 B 10 o] —aiw éfa:a‘ -Njad% mecbr{ed:o QSO
N3 DT draez:o csaa)ejﬁ#siv 0B, ORREIT0IH S033 LR 3 B3,
3@@&«:



AR R

8. T daé_g 20 OEIEE 20D 2 FODR OQEITT D0W BRR '50339&'1)332{

WEINRONWD o Do’
Redd woRee 1 ,OO?OOO
QOERED 1,70,000
ONI 40,000
z:mb,o‘é“ ISP -

3,10,000
DR LISodw som.

=T

W O
4
1,40,000

1,00,000
90,000

90,000
4,20,000

BANEO Q O
30 &SR 1,20,?000
ADEDIY 60,000
230£3nsH 80,000
STatad 50,000

3,10,000

RPnemN 30BRNRED T 90,000 éaabdaomr\ BRTLIER).

2 O EOS 3w ¥ 10 T wecbr{@’—b @ OQEEF, 2) 2 QLR R 3T 5 Bo3
P \5653303306@ mmm m 2 Eﬂd)":}éd@ QerdLied. Némaswd@d? 103,12,000

edor{eiab B8 Reont 3@ T 1 5 dﬂé mﬁnméar'{ LBORD TNOTTOWD.

63421

QOETRRYALD
R0B) TWRELD LATRORT. DO DFDOTHOTD I T3, B FFNT083):

W O3
L4
1,80,000

1,10,000
1,30,000

4,20,000

QoD B,¥ BN BT00IER, T8 o Oa0EE T T Remo

) D @@a@sw 208 W D 1R ABRT Hedny 203,033, BOWIERD.

X4 b) % OQOLES YRINTY, 5ToR8 Sreesd TDSHGR) g,
C) Roo3RERTI IO wgm’% 3037010.

. @0nTe OIS eoggos T 31-3-22 Tod B IFNT0ST.

mmza%am{: X es&rie;b
20 ¥ 10 © 1,20,000 PR [ BB
Redonsd 12,00,000 oo emsdansd
23 AN 3,00,000 womad
239,088 Q0ETH 2,80,000 a3e3neb
RY-IF, 008

17,80,000

DO TOMEIFTOTW &eNTI :

L4
9,00,000
5,00,000
1,70,000
2,00,000

10,000

17,80,000

BOTRIOD0E, 00T 08 Dm0 S B v 03, OR0EiE* i 15,00,000  =m0mes
IRBOOMZT, w8, D0Eie* T 6,00,000 IR (A3 AR, U3, 083 20eTFS 9308
320,000 &mzse s SERGR) T0EERL MErHEE ) w83 s X 9,00,000 RS S

10 T, 3w 7.50 "?déﬁod og, deE's 1,20,000

RECITHOON B30,

oonys OR0KE YRS, ey SEo* amdnda Foinor.

Tedoned Soonws @&3&3&“5



63421 8- RO A

10. & BomIOD 35 B3, 31-3-22 Ford B3 F¥NT0ITS :

WEOWR O 3T ©Anw 4
8w 1003, 19,000 EATOTAY d)@’g é&é}cﬁr{%{) 1,00,000
RO, Hedorsd 19,00,000 o3>0 cadEsraned 2,80,000
ROORZNED 1,00,000 mfw—a_nda 3,70,000
FOND 1,00,000 2E3) 230e3ned 1,80,000
ﬁcs%dﬁ 2,00,000

OoY3-F, a8 9,70,000

21,00,000 21,00,000

z?oai&’aodoab B3 FPNT0B PIVF QOFRLIeBd :
a) ¥ 100c$ TRy Bew X 40 S, Foror THBIAT HeONE BRWS Ro3n awRLes.

. b) mezmgnh ﬁfao@d)ddaﬁ @as:ar TRRenE) TPBERHT 3w T 40 8, 1000 SR

1.

ﬁedor{@éaigt TPF VETFT, HIORORT).
C) oRoTs RRZER), :ﬁcxg&dé 202 Y-TR, 2593 IR BRFL T UPFOD)
evelecoleout oty VIR, BRRO BREL IR,
d) oo @B woraevy) 3o T 100 I, 20,000ﬁ$d3ﬁ%3§2{ BRODT. .
Slpthapiafeloles TR DSMTR, WBWO. FRIFQF AT B T BoIROR.

57, ORHE S 10BTY B3 FIB0R0I) -
3w T 1003 Zogpearzon Doedas 4,000 —admﬁ Redonshd. ' |
3o 10003 80 3233 3,000 BT, HeSoned. 4
320X 1003 Rogpeoraon RS 1,000 SHICH R, a1

AP AR T 1,00,000. @ewog, X 30,000 SR ROTEZ TN elapies
DRBEDPTONG RorTowsodn T 2,500. éofuzsz—-aa@@aﬁeﬁa mr{s TORERRT ?5335
Redons? soec3 T 15/- eon 83 RT3, e;adai: OTIPEDF TN TRTERTDONIBD. ejdda
¥ 2,91,000 d‘)’@@?}’ QR Eﬁmﬁ%ﬁﬁ) TROT3A.

ReBOTTON Mo THODY, BRCORIZ DRWFTVHTO 085 VST TEIODI,
%Cﬁo""q@ro




